中考网  www.zhongkao.com

[image: image1.jpg]BIPH T 2009 BP0 2 W 2 W5 VB

%

#

FEER: L FEREI=ERE, W 120 2, F AR

120 43-44.

2. FREWIFE—REESE R L HEEM 2B ERRE ERERIAHERK

HIGRA R E AR OB KETERE,
RS EEETH.

FEARER RO B

— EFRRE (AR KRE 10 /N, 45/0ME 3 43, Wi 43 30 43 ZEA/IMEIS I AT, RAE—

TEFEBEERK . )
L Ffy= Vx-2 FAZBNBEEE R

A x=0 B.x<2 C.x?f/ D.x <2
2. BAISKHSARBURE ) 1. 24 x 10 7 55/EHMN1. 24 x 10 AR TR
A.0.000124 B.0.0124 C. -0.00124 D. 0. 00124
3. TEHSFERKNZ
A3 582380 B TG EaF =5 =D, D
4. N HAZABNHEERADRS N <y, KERF 2,0 y 5« ZEMXFRABZRRK
4 ( 7
0 z NL %
A B
5. 4 1 FRJ U R R R R
e TR -
A B C
6. 1A 2 s ,AB.C 3 BIFER =4, AB = 1000 2%, BC =600 K ,4C 4

=800 K, FEAL & E SR BB O T R R, Pl — 13l
BB L, BRI =R EEIE S 0 W BE B AR A, IIE BP0 P RAL

BRfE
A AB s B. BC H15
C.ACH R D. £CHPFRE5 AB IR ¢

% BEPHRFRE BLIR (F470) #



[image: image2.jpg]7. BRI -3y = -3,05 -5 +3y (R {/
G

A0 B.2 ; D.8
8. WIBIMIELLEES 3, BB A7 BN B R 2° —4% +3 =0 IR, TG B P o7 8 S
A #1% B b8 C W& D. $h4y
9. I 3,359 ABCD {iE % 20em,DE L AB, 2N E, D
cosA =%,ﬂw—Fﬂ%iﬁ: @
: @
@ODE =3cm; QEB=lcm; Sy =15cm™ ¢ o
HoEHE&SHICH
A3 A B.2 /.\\/ Ba
14 D.0 4

10. J0FE 4, JEIE4RH ABCD w1 ,AB =4 ,AD =3 i BRI F AD 15 »
XL BD EE, JRA DG, AG ik

Al B. =4

3
3 B
C.? D.ZJ 4 G
&4

RSB (BKIIE 6 /T, /MB35, 35 18 43 )

1L SMEER - 427 +4% = :

12. FAHER —EREASRERTZET 10 5K, B 5K F B B EIEE 7 2 54 WA
B IRy .

13. FEHRAR 2006 4RHISEICA R 5 TT TG, i F 3% 9 AR BOR (7592, 2008 4E4E I AT 7. 2
Tio0, N R R K R 2

14 WA BIRAR (42,0) S48 A G236 ARBRIELAUMET 1 He % 135°8 % B, BE 4 B S E0AEAT 2

15, B S, IRATY OABC Rty | MTE T R MR y = S o i B, 0 & oty

¢}’
B Vi
C o x
&5
16. 4N 6, B2k ABYIOO F € &,D £OO0 F—s%, LEDC =30°,3% EF [/AB,¥%%5 0C %5 EF

T H 55,3455 CF, B CF =2 | HE (K
% MERFEE F2W (£47) %



[image: image3.jpg]= REE (BRI 10 NEL 4 72 4 . B RLS HHSCF P I R RS TR )
17. (/MWL 6 4)

RS, IR RARAE R k.
%-2<0, @
{2(;;-1) +3=3q. ®

18. (A/MEWS 6 43)

SR, TRl a(4 - 1) it ta=k

a

19. (F/MEWHSY 6 43)

20.

2L

22.

T CRAFERRIRIR A T &SI S 0, SUH IR RS R I 7 fom .

(%) (%)
8 fled ;
7hemeees 7pmmmm—ms i
6 TN 6F----» P
> Pl il S[EE A ey
el - AR
b1 alif Jild
il Wi
12223 4% @) 12379 (%)

B Z,

&7
(D IFFRREEFRBERE T

R ) N

7| 6

Z ' 6 2.8
O T —
(/NS 6 47)

BA— KRB E RS AR, BT (1, -2) SRR BRI R
(/MBS T 53)

—REY QSRR 6 4, 3R 9 4, 53¢ 3 A, X EER BRI 0 S0 B (AT A X

A AP ESE S — 5k

(1) BB R BR A 2 ,
(2) IR BB GIROER N, FELRA S TN S 57
(A NEHS T 45) :

0 8, LU R 90°HIRITE OAB 5
BT OCD BHfE—ie, %45 AC, BD.
(1)3RiE :AC = BD;

() FEH PR WER e’ 04 =2em. K 0C iy .

% MEHFRE F3T (R4T) %



[image: image4.jpg]23.

25

26.

(F/IVEAY 8 4)

HE 9, AABC w1 AB = AC,AD AE 55| 2: £ BAC Fl £ BAC (941 I FE-454% , BE L AE.
(1)3RIE:DA LAE;

(2)iR¥7 AB 55 DE REARE? FHEHRNLE .

B9

- (F/NEES 8 41)

FE—WIERIES T, SRR, 3 — 4t P SRS TR L G REOR M, 5

4 iy P ST BT 2 2 M Ak S RTAT B P 3E JE AR 0 , P AL I 2, A AT B D

(h) , FI41BS ZH BB 4500 S, (km) , S, (km) , B 10 TR AFIRTR S,.8, 5t ZH

HERHRE .

(1) B\ Z P [E M BE R A km, Z, \FIPI L2 ] I BE BT O km;

(2)sRE 4y P R B IR BIRA Z 3 % ph Z 3 B K DI T PR B e ] 533 25207

(3)RE LB AB FFRRH S, 5t AIRRFRERR, 5 AR « WBYEEH .

(/MBS 9 53)

& 11,4AB 200 WHER,5% BC =2cm, LABC =60°.

(1)ROO0 K42

(2)# D B AB FERLR F— K, %55 CD, % BD K AL/, CD 500 11;

(3)ZZHA E LA 2em/s BN A S RITE AB F B3], RN 3 F L lem/s BIHE
M B R HEW BC HTEE), BB B R £(s) (0 <t <2), #%24% EF, % ¢« Hf{ER,
ABEF HEAZH .

il

0 (= AN X
& 11 B 12

(A</NEH ST 9 41)
ME 12, By = —x +4 SPIRREAFIMAT AB &, B M BEB AB HEE—R (4.
B Wi SRS 5 M 43BI4E MC L OA F C,MD 1 OB T D.
(1) %45 M 7E AB HB 3Rt , 4Rl Ui OCMD WK RS Z4E 2 Uil ;
(2) 4,8 MBI BR, WHE OCMD HEFAE B KE? SKERED?
(3) S VUTE OCMD KIE TR, K IUHTE OCMD 3% « B EF M3, P BIEE N

a(0 <a<4),EEH OCMD 5 AAOB EZRFAIERN S. K S 5 o MEBRRK
FHE % RS RS

% WEPHRFEE F4W (F4W) &





中考网  www.zhongkao.com

